(202 3%F4A8%]

I5H X5 125 < HEE (M)
= SRH 2 20,000
. REt 2 20,000
o | SA7D 0 0
*R%EID ig‘l' 0 O
A SHA% 7 25,000
= ==t 7 25 000
w | A7 0 0
=k = 5 5
SHD 0 0

ZD i

1 REt 0 0
sy SHZ 9 45,000
—F 2=t 9 45,000

g Z2REHEIE. 202 3F4ANSDRETTT,




HME-BHMEOXEEDRITINE (4B 5)

XE |H B | A H 1 L X HgE
F OB 4A3R |FE FED O EAEASRE JHRK HF 10, 000
B
U 2 % [4H208 |—N\& 4 A6 &% 3, 000
SAHE
Z DAt
AN i 13, 000
F OB 4A3R |FE FED O EAEASRE JHRK HF 10, 000
B
TN 2 # [4H208 |—\& 4 A6 &% 3, 000
SAHE
Z DAt
AN G 13, 000
A
P 2 # [4H208 |—\& 4 A6 &% 3, 000
SAHE
Z DAt
b = 3,000
B
N AF1TH [ZRRTTRSBHRE 2 6, 000
peeimmE T | 4H200 [—AR 4 AMIE o 3, 000
SAHE
sl i)
AN i 9, 000
B
N AA200 |[—\& 4 Aflx 2 3,000
woEmE| T | 4250 [REWErERRY Ry AR 4, 000

KA OV T,

FFEHOFEGICRE L, B -

BRADHRETHZELLTEBY £7,




